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200
INE=EDNE- 6,474,901| 24,598,000 | A 18,123,099
230
SEXAES 6,274,901| 23,964,400 | A 17,689,499
234
I=EE 6,274,901| 23,958,900 | A 17,683,999
401
A& L L0 6,274,901 23,958,900 | A 17,683,999
5,964,164 22,576,059 | A16,611,895|401-01 (Al&H|)
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[EXAIY]
AR P St HEH ALY 2,900,000,000& X 91.64/100 = 2,657,560
(= 2,030,000)
(Al 627,560)
AFAFH Sl HHEH ALY
714,000,000 X 91.37/100 = 652,382
(= 500,000)
(Al 152,382)
StEX2IESA (20133 AlHl 0I18EL)
1,000,000,000& X 12 = 1,000,000
(Al 1,000,000)
[ XHRI AL
Sh2= 2t T AHH] 30,000,0009! X 98.92/100 = 29,676
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(200) Xt = X (230) = & X &k MBt: (234) =2 EER-E))
i} S
Ol At o4 SO A HInEY = J =
8t M8t =
S 3IIYS
Ol ===,
[EXAM]
AU P2t A " H| ALY 2,900,000,000& X 0.36/100 10,440
=ESYN 714,000,000 X 0.63/100 4,499
[ XERIAFRE ]
StERANZE 30,000,000® X 1.08/100 324
St =4 10,0002 X 5,000m X 0.72/100 360
254 FHl 400,0009 X 125m X 0.90/100 450
St 23 24 300,000 X 2007H4 X 0.72/100 432
Aot T HHII=2HELE HE 2 740,000,000 X 0.63/100 4,662
EHAA A
O s3AEA
(Xt 22
2 RNES 50,000,000 X 14! X 0.90% 450
800
olHIHl 200,000 200,000 0
800
ol 5l 200,000 200,000 0
801
I 200,000 200,000 0|3t
O oY
200,000,000 200,000




